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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [[' I, ’I.opt’], ['T, '"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Trend plot forMG_O
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MG

BYiE) | GEBAK () | ERE(EH/4R) | EREE (/R [ XS R

07:05 382 130.0 0.055 F  FHAe07:05 KEIEFE (RAFESE)
08:00 382 130.0 0. 055 F(  FiHAe08:00 FKEFEF (GRAERE)
09:25 382 130.0 0. 055 5| FHA@09:25 KENFZEF (RAIERENER)
10:25 382 130.0 0. 055 5 FHAe10:25 KEIEFE CGRAFESE)
11:20 382 130.0 0. 055 =l FHEA@11:20 KRENFZEF CGRAMEEEE)
12:10 382 130.0 0.055 s FHER@12:10 KREFEF (RAHEEE)
13:00 382 130.0 0. 055 F|  FEAe13:00 KEIEFE CGRAMFESE)
13:50 382 130.0 0. 055 F(  FiHAe13:50 KREFEF CGRAERE)
14:45 382 130.0 0.055 | FHfe14:45 KHEF (KRAEESE)
15:45 382 130.0 0. 055 5| FEAe15:45 KEIEFE CGRAFESE)
17:05 382 130.0 0. 055 5| FHEA@17:05 KENFEF (CGRAMEEEE)
23t 4202.0 (113%) 1430.0 32 PU3KEC: 2036.0, PH: 6.5

RE K i3 [B] R ECEIR K.

FER BRI HEREC/PHESRR, FIREFNIMEEIR K




FRV (ml plant-1)
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MG_O0, Day=41 (2025-06-10)
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MG

BTiE) | GEBIATK (F) | EME (EA/&) | BEBRERE (/X)) | KR EFRF

06:30 301 130.0 0. 055 FH| {Ei%@06:30 KRFFEF (RAEREE)
07:30 301 130.0 0.055 [Z=| 1BRi%e07:30 REEF (KAFERHE)
10:25 301 130.0 0.055 [Z=| {Ri%@10:25 KEIZEF (GRAKEE)
11:35 301 130.0 0.055 |&Z=| 1RiBe11:35 KEIPEF (KRAFEREE)
13:10 301 130.0 0.055 [/\F| 1{Big@13:10 KREEF (KAFERHE)
14:10 301 130.0 0.055 PR {Ri%@14:10 RHMIEF (RAKZESR)
15:20 301 130.0 0.055 [Z=| (Ri%@15:20 KEIZEF CGRAMERE)
=2i3t|2107.0 (%) 910.0 EUHKEC: 2029.0, PH: 6.5

EORGEBRBT R IRAR L2 (301 vs 382.0))

PRI SERRIERE102. 0 ml.
RE XK i3k B RECEUR Fh ok
RE X SE R 3 HEREC/PHIE SRS, AT

RERZMMIRELR R
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MG

BflE) | GEBRAK () | ERE(EA/K | EREE(B/R) [ XS ERE

06:10 300 100.0 0. 042 Sl Ri&@06:10 KENFZEF (GRAMEEEE)
07:05 300 100.0 0. 042 Bl Ri&@07:05 KEFZEF (RAEEE)
07:45 300 100.0 0. 042 & {BRi%e07:45 REIEF (REERSR)
08:45 300 100.0 0. 042 =l RRi%@08:45 KENFZF (RAMEEEE)
09:35 300 100.0 0.042 E[  1Ri18009:35 KRENFZF (GRFAEREE)
10:20 300 100.0 0. 042 sl Ri&@10:20 KEIZEF (GRAKEEE)
11:00 300 100.0 0. 042 sl Ri&e11:00 KEIZEF CGRAEEE)
11:35 300 100.0 0.042 F(  {Rige11:35 KREMIEF CGREAERS)
12:15 300 100.0 0. 042 Bl Ri&e12:15 KEHIZEF (RAHEEE)
12:50 300 100.0 0. 042 sl Ri&@12:50 KEIZEF (GRAEEE)
13:30 300 100.0 0.042 5| 1Ri%e13:30 KRHEF (RAMEESE)
14:10 300 100.0 0. 042 5| BRi%e14:10 RHEF (KRAERESE)
14:50 300 100.0 0. 042 5| 1BRi%e14:50 REEF (KEERSR)
15:30 300 100.0 0. 042 5| 1BRi%e15:30 RHEF (KEAERSR)
16:15 300 100. 0 0. 042 5| 1BRi%e16:15 RHIEF (KAERSE)
17:10 300 100.0 0. 042 5| Ri%e17:10 KEZEF CGRAEESE)
21t 4800.0 (16)%) 1600. 0 32 U3KEC: 1872.0, PH: 6.5

RE X i3 B RECHUR Rk

FER BRI HEREC/PHESRR, FIREFNIMEEIR K




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

MG_0, Day=39 (2025-06-08)

100 A

75

50 A

25 A

VI, VO,1BRY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1354

28

Warning: lcol [FVI',| "FVO’'] missing

158
(
100 -

50 A

- 1500

- 1000

- 500

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=1971.0, setECB=1872.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 A

]
Bytnit ®D41 02:04: ET=1460 Fg=1650.0 Ro=196.0

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 i3 i3 3 i3 i3 i3 i3 i3 = 3 = = = 3 3 = = = = = = = = =

200 -

100 A

B B 5] B 5] B B B 5] B B B 5]

ByEt @D39 19:09: ET=1621 Fg=918. 0 Ro=nan !

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300755 | | | | M | % | m | m | m® | m | m | m [ m [ m [ m [ ]BE(Sx5a5n

200 -

100 A

I
ByWoFyv @D41 02:04: ET=1354 Fg=1600.0 Ro=181.0

/’/ —

- 2000

- 1000

1.0

0.8

0.6

0.4+

0.2~

IR

ﬁ«

+

'

|
—

/

|

40 -

20 -

—_—
[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



22.

22.

22.

21,

21.

21.

21.

25.

25.

25.

25.

25.

25.

26

24

22 -

20

18

16 1

M_W

T
600

860
m=660,n FV0=0

T
1000

—— MW

T
660

665 6;0
m=900,n FV0=0

1T —e— mw

900

905 910

16.

16.

16.

16.

16.

24.2 A

24.0 -

23. 8 A

23.6 -

23. 4 -

25.

25.

25.

25.

25.

25.

25.

m=480, FV0=0

20

15 4

10

05 -

—— MW

00 -

T
480

4é5 4é0
m=720,n FV0=0

70 A

65 -

60

55 A

50 -

45 A

40 -

—— MW

T
720

7é5 750
m=1005n FV0=0

—— MW

1005

1010 1015

17.

17.

17.

16.

16.

25.

24.

24.

24,

24.

24.

24.

m=540, FV0=0

—0— MW

T
540

5&5 5%0
m=780,n FV0=0

1T —e— mw

L

780

T
785 790

19.

19.

18.

18.

18.

18.

25.

25.

25.

25.

25.

25.

m=600, FV0=0

—o— MW

T
600

665 6%0
m=840,n FV0=0

1T —e— mw

T
840

T
845 850




hour

:55

145

:35

125

:20

110

:10

100

80

- 60

- 40

§_

%

Q)
)_{?
5
N
-
4
%

%
L
—&&

Y

2
%
.

%5

2
>
L

&

£

&,

&

%
o
%

)
-

4@

o %

%



MG

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

08:00 301 130.0 0.055 =  {BRi%@08:00 KRHFEF (KREAEZRE)
08:50 301 130.0 0.055 = {Ri%@08:50 KREFEF (KREAFZHE)
09:50 301 130.0 0. 055 = 1Ri%@09:50 REEF (REAEZEBE)
10:55 301 130.0 0. 055 =  {Ri%@10:55 KRHEF (REEZERE)
11:45 301 130.0 0. 055 5| Ri&e11:45 KHEF RAMERESE)
12:35 301 130.0 0. 055 = Rige12:35 RHEF GGREAZBE)
13:25 301 130.0 0. 055 =l Rige13:25 KHIEF (RAERESE)
14:20 301 130.0 0. 055 B Ri%e14:20 RHEF CRAMEESE)
15:10 301 130.0 0. 055 = Ri%e15:10 REEF CGREAFZRE)
16:10 301 130.0 0. 055 5| 1BRi%e16:10 REEEF (KEERSR)
21t]3010.0 (10)%) 1300.0 32 FE%EC: 1818.0, PH: 6.5

EORGEBRBT R IR 23 (300 vs 333.0))

BRIASERRERL117.0 ml.
RE XK i3k B RECEUR Fh ok
RE X SE R 3 HEREC/PHIE SRS, AT

RERZMMIRELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

MG_0, Day=38 (2025-06-07)
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